Rekvisitt

KLCX

H3
‘ H2
ﬁ%ﬂ
L , Jins
A
2 ° | o
v |
— ‘ ' [ ) v ' ‘[L
I b
Y il Y
- H o2
Material INOX
Dimensions before
mounting
Dimensions Tightening Loosening Performances Surface pressures
Our code
No. of screws No. of screws
d| D H | H1 [ H2 | H3 NV v NV Mt Ta pa pm
D1 (Nm) (Nm) | (KN) | (N/mm?) | (N/mm?)
KLCX010 10§16 129312714 23 M4x12 2 4 M4x12 3 22 4 82 51
KLCX012 12 118 13213212814 23 i M4x12 2 4 M4x12 3 26 4 69 46
KLCX014 14 123 13813212814 23 i M4x12 2 4 M4x12 3 30 4 59 36
KLCX015 1524 : 44 143 13716 {29 | M6x18 8 4 M6x18 3 73 10 107 67
KLCX016 16 {24 : 44 1 43 1 37 i1 16 { 29 | M6x18 8 4 M6x18 3 78 10 101 67
KLCX018 18 126 {47 {45139 : 18 { 31 i M6x18 8 4 M6x18 3 87 10 79 55
KLCX019 19127 149 453918 { 31 i M6x18 8 4 M6x18 3 92 10 75 53
KLCX020 20128 {50 :45:{39:18 i 31 M6x18 8 4 M6x18 3 97 10 71 51
KLCX022 22 132154524625} 38 M6x18 8 4 M6x18 3 105 10 47 32
KLCX024 24 134 156524625 38 M6x18 8 6 M6x18 3 175 15 64 45
KLCX025 2513456524625 38 M6x18 8 6 M6x18 3 180 15 62 45
KLCX028 28139:61:52:46: 2538 M6x18 8 6 M6x18 3 200 15 55 40
KLCX030 304162524625 38 M6x18 8 6 M6x18 3 220 15 51 38
KLCX032 32143 65524625 38 M6x18 8 8 M6x18 4 310 19 64 48
KLCX035 35147 166 59533243 M6x18 8 8 M6x18 4 340 19 46 34
KLCX038 385072 :59:{53:32:43: M6x18 8 8 M6x18 4 370 19 42 32
KLCX040 40 1 53 17559533245 M6x18 8 8 M6x18 4 390 19 40 30
KLCX042 42 55178 {59 i53:32:45 M6x18 8 8 M6x18 4 410 19 39 29
KLCX045 45 :59 18678704556 M8x22 : 18 8 M8x22 4 820 36 48 36
KLCX048 48 1 62 1 87 {7870 45 56 i M8x22 18 8 M8x22 4 880 36 45 35
KLCX050 50:i65:{92:78 7045} 56 M8x22 18 8 M8x22 4 910 36 43 33




